%) We Shine Academy”

guiding you to get through

ABCD is a rectangle and ABE is a triangle whose vertex E lies on CD. IFAB 5 cm
and the area of the triangle is 10 sq.cm, then the perimeter of the rectangle is
a) 14 cm b) 15 cm c)18cm d) 20cm

ABCD ateiilgl @ LiFsisusn wnnl ABE eisim (wEGsnemdslan Eseim 2 &4

CD-s0 2 _siengl AB=5 GlF.f wompib (psECsmemdalar urlsts 10F 6F .18 semsd
blFsieu®mSHEN  HNMETEUTEIH. _
a) 146718 b) 156/F.18 c) 18018 d) 2065 .16

H.C.F of two numbers is 12 and their difference is 12. Find themnumbers.
a) 66, 78 b) 70, 82 c) 94, 106 "d)84, %
@m stemmetisn W.CuTen 12 Seumyien silSHWUTFIDl 12, DiHs 616HHMmeTH
DTSN 5. : /

a) 66,78 b) 70,82 ¢) 94,106 d) 84,96

If the ratio of father’s age is 4 : 1and the product of their ages is 196, then ratio
of their ages after 5 yearswill be
a)3:1 b)10.:3 c)11:4 d) 14 :5
Hhend LWHTID WEHier Atz alBsn 4:1 Gusid siTsa Emeuie aulslEr
LumEms Getms 196 aeafsy 5 aumHLREEHGE LG SeTasT @meuflsr
sl ollsBLD

a)3:1 % b) 10:3 c)11:4 d) 14:5

Find the value of 501 x 505
a) 278005 b) 253005 c) 273005 d) 258005
501x505 —6it 0@l Hirea.
a) 2780085 b) 253005 c) 273005 d) 258005

The least number of square tiles required to pave a room of size 15 m 17cm long
and 9m 2 cm broad is

a) 902 b) 656 c) 738 d) 814

151F 176F48 memb, 96 26F10 @60l 2 sl @@ Ssnmulsd Geuuliin
Geusmngill 1sbEmamphs aemembmsuleorst #ay slsvsmeusbs seuastey?

a) 902 b) 656 c) 738 d) 814
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Insert the missing number in the given series

5,10, 13, 26,29, 58, 61, ...c.c.cess

a)122 b) 64 c) 125 d) 128
Garhessin L Gemfsy aliful L siERTensma HIenS.

5,10, 13, 26, 29, 58, 61

a)122 b) 64 c) 125 d) 128

The LC.M. of 1/3,5/6,2/9,4/27 is

a)1/54 b) 10/27 c)20/3 d) None of these
1/3, 5/6,2\9, 4/27-ai 8.Gum.Lo.

a) 1/54 b) 10/2 c) 20/3 d) smisbisusmen

Which number should come in the place of the question mark?

11 | 13 | 16
5 4
4 5
59 | 57

a)6 b) 4 c)8 d) 7
BGasalld@muil L B HHs0 & erenw FhuITen swsw WnE?

11 [ 1316
5; 4 \ 3
4 .5 ?
59 [57 |56

ajg6 b) 4 c)8 d) 7

An increase of 20% in the price of mangoes enables a person to purchase 4
mangoes less for 40. The price of 15 mangoes before increase was.

a)Rs. 10 b) Rs. 15 c) Rs. 20 d) Rs. 25
WTDLpSSET sllsnsy 20% DHSNHHTL HauT 40 mUTLSEG HT6E
LDTDLIDWIGSTT  @GMmBaITEHST6N allbis (Pgub saist, allsnmn@ubBisihe
(LpaimeTey 15 LomDLWmIESsTIsT allmey aTsilsnauTd  BlHHDHHBGLI.

a) 15.10 b) .15 c) 1520 d) .25

The area of the largest triangle that can be in scribed in a semi- circle of a radius
4cmis
a)16cm’ b) 32 cm® c) 64 cm’ d) 128 cm”
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Az Ly ounonss Gerai. eyl L Has 2 61 mihs a6
(p&GansmbHleil Ly s
a)l6sgmy Gei8 b)32smy Osd  c)6dsamy Gz.8 d) 128sai; GlF.f

2y

E find the value of .
a)4 b)5 41

xz—
x+11=4 BIGHIEY X-501 LD&HIIL| HAewidb.
a) 4 b) 5 c)3 d)1

A can do a certain job in 12 days. B is 60% more efficient than A. How many days
does B alone take to do the same job.

a) 6% days b) 6 days c) 7 days d) 7% days

A aeiiuaill e Beusmsvsnil 12BICGailied (PSS HIT. B sreiileuT A-s@ii 60%
allmrans (it asis, 2165 Gaumevamwt B Heliluns a5SHmen BT S6s0
(piglni? ‘

a) 6%@1561'1 b) 6mBiL_sH6i ¢) 7w ssii d) 7%[5m'_essit

What percent is 15 paise of 2 rupees 70 paise?

a) 62% b) 52 % €)% d) 52 %
2epumil 70 spugTallsy 15_enuEn siHHme FHalsn’]

a) 6%% b) 52 % c)92% d) 5:%

A bicycle marked asRs. 1,500 is sold for Rs. 1,350. What is the percentage of
discount? -

a)9%. b) 10% c) 12% d) 15%

wm Wsasmeulss sllsnee 5.1.500 swim @i O Beitensl.  Easnan
5.1,35055 albmmed FHeIEHLIg FHEIHIMD 160160 7

a) 9% b) 10% c) 12% d) 15%

1 ; 1 ; ;

In a college, ;th of the girls and gth of the boys took part in a social camp. What
of the total number of students in the college took part in the camp?

13 13 2 8
a) o5 b) - <) d) —

40 80 13, 13
@ Seogumilisy meLLILMY Feps (LPSTLHED o LOTT 6001 621186 (6THLD = LDIT 6001 6UIT&B(BTHLD
Ho0ihal GETemLamT. sensh oibEBsveuruilsd sevbhaml GamemL Glordhs
wisoieuiissiiel ell®isnd OoHiena sledien?

13 13 2 8
a) 5 b) 25 )5 d 5
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Which of the following diagrams correctly represent the three words; English,

Latin, Greek?
>
a) @ b) c) d) O

SYBIB 60, HHe, HETEHSIL S APsIm AUTTHMHBMET FHWTH

OOO

GeuaiiufoHann S 2 sienm Lt 6157

a) @ b) c) @ d)

Which number is in all the geometrical figures in the following diagram?

6

a)2 b) 3 % s d) 8
BELOWEITET  LIL Fubetlleh) 61hd ) oTelil  SIEmaihal Mgl LI Eisberiish G 1b
Cuifinssngs? ¢

a)2 d) 8

Area of a triangular garden is 800 sg. m. The height of the gardenis 40 m . Find
the base length of the garden.

a)20m b)40m c)10m d) 50 m

@0 (pEBETIN agaSS s CaTL S urliusTa $00m’

Similsn 2 wimb 40m aeilled HCHTLL SH6 g 2 winb wrg?
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28.

a) 20m b) 40m c) 10m d) 50m

Calculate the area of the quadrilateral whose length s 20 cm and perpendicular
distance to the diagonal from opposite vertices be 7cmand 10cm

a) 160 cm® b) 110 cm? c) 100 cm’ d) 170 ecm?

R0 ETBErEHar Bemb 206F.8, aglir Gomgdsas 2 wpb 76840 wBmin
106lF.10-0 Gmhared Ssubmle UPTILIGTEY HTa0ss.

a) 160cm’ b) 110cm” ¢) 100cm’ d) 170cm’

The perimeter and the area of a semicircle of radius 14 cm is

a) 36 :308 b)72:308 c) 308 :36 d) 308 : 72
146lF .15 Sygupsiien Sismyall L SHlei &HmeTs| WWHmID UFLUsTeY] (1PpnDGL
a) 36:308 b)72: 308 c)308 :36 d) 308:72

Find the missing figure

b) 70 c) 80 d) 65
A(BOLL L GTEOTaNGIN BTN,
Elsd 9% =63
a) 60 b) 70 c} 80. d) 65

(0.85% of 405) + (2.25% of 550).= 7 -

a) 13.8175 b) 15.8175 c) 14.8175 d) 15.7150
(405 @lsb 0.85% )+ (55080 2.29%) = ?

a) 13.8175 b) 15.8175 c) 14.8175 d) 15.7150

Find.the'Cll 0fRs.15,625 at 8% for 3 years compounded annually

a) 5058 b) 3058 c) 4058 d) 6058

15625 —4@ semh e’y 8% alpin salley 3 snbosehiddah ant B ol
&0 LD

a) 5058 b) 3058 c) 4058 d) 6058

In how much time will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per annum
compound interest?

a) 1 year b) 2 years c) 3 years d) 4 years

5.1,600 sueisE 3% syl sl f aully afHED GETemih 66 Emne yEHHET
M.1852.50 @107

a) leumi b b) 2eumLtb c) 3au(HL1b d) daumLLp

At what rate per annum will Rs. 640 amount to Rs. 774.40 in 2 years, when
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interest is being compounded annually?

a) 10% b) 15% c) 20% d) 25%

h.640 semg Syaih DUHSEATE0 Snl(hHbsTens MH.774.40 GW. Fl ([ aullg
lBHID  HTR.

a) 10% b) 15% c) 20% d) 25%

| =

“n

4 4 0 2y—xy .
= ~then the value of (-+ Y 1L) is
5 7 2y+x

-

b)1
. 4 2y—=x\ . .
B1601160 (; + EJ_H)W oI

b)1

[T
S

¥
3
7
4
5
3
7

1 4 1
How many g's are there in 375?

a) 300 b) 400 c) 500
37% BIGOIT  GTGITGIIB0 618 FH6M601 -:; I 11651
a) 300 b) 400

Simplify :
r Pl
xe ¥
T

a) Xy
X2+ y2

T (G T
P y2

R —

a) s o g wB) c)

x2yy2 %2 |y2

1

2 2
W=

D))

x2 1y2
The area of a circular field is 13.86 hectares. The cost of fencing it at the rate of
20 paise per metre is

a) Rs. 277.20 b) Rs. 264 c)Rs.324 d) Rs.198

M aul L sugey Gswerinisr uglues 13.86 g&sl asiled, @@ L TaE 20
anuaT sisw s apnl Gsusl Bum syHic elsne

5.277.20 b) @m.264 c)em. 324 d) em. 198

One side of a rhombus is 10 cms and one of its diagonals is 12 cms. The area of
the rhombus is

a) 120.sq.c.m b)96.S¢.c.m c) 80.5g.c.m d) 60. Sg.c. m
R0 HIBFRTHHE @@ uUbsbh 106F.68 By omaeniul @ apensuaiil L b
126G Fmil FHITHBHA LTS S HLD.

a) 1206# ** b) 966iF.15° c) 80Gi# 16 d) 60615
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The ratio of the area of a square of side ‘a’ and equilateral triangle of side ‘@’ is
a)2:1 b)2:vV3 c)4:3 d)4a:v3

“a" usslh GBETONL @5 FHTHSHEN LUFLUTE| WwhmIh 3’ ussD bl
FULISS (PHECHTemGHH LTLLGMaS6TIN @l s SIGID.

a)2:1 b) 2:v3 c)4:3 d)4:\/3

There are oranges in a basket of 25 fruits. The percentage of oranges is
a) 5% b) 25% c) 10% d) 20%
@ FemLisglsTer 25 UpRSaTso 5 Srehamll LIpRISET 6Taich STEhal
LImIETar FHelHn

a)5% b) 25% c) 10% d) 20%

The discount is always on the

a) Market price b) Cost price c) Selling price d) Interest
HEMETHLIG  FTHILIS] wilsi m) senes L IL(BeuSHTEHLD.

a)enss alewew b)) o ds slsnsy  C) allpusmsn alsnen .d) G'}l['_!?;!:l-

-------------- = Market price — Discount.

a) Cost price b) Selling price c) List price d) Market price
=@0HH e —HaTEmHLIG.

a) oL sEane b) alfuemar silsmso

c)urpusd silsnsn d).shans silspew

Find~ of 2=
4 5

. Y 2
b) 11 d) 11

5 9
b) d 5

Leela readsi-ofa book in 1 hour, How much of the book will she read in 3%
hours?

6 5 7 4
sdsum 1 wewil BBHyH&6D y UGBS @ UHeHHmE LigdHsHTsy, 35 wentl  CGuHrHalsy
ATGUGNGTEY LGS LYéHS (Wwnb?

6 5 7 4
a) E b) -i; C] E d) g

If 5%’ —13xy+ 6y’ =0 thenx:yis
a) (2:1) only b) (5:3) (or) (1:2) ) (3:5) only d) (3:5) (or) (2:1)
5x-13xy+6y =stailse Xy air silasin
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a) (2:1) w Ho b) (5:3)(or) (1:2) c) (3:5) wt' (jio d) (3:5 (or) (2:1)

The sum of the series

1+3+5+ to25termsis

a) 600 b) 625 c) 650
14345+..... 25 2 milissT auswy 2 st Glesm fler ampHs0
a) 600 b) 625 c) 650

Find out the worng number in the sequence
125,127,130, 135, 142, 153, 165
a) 130 b) 142 c) 153 d) 165

FEEFEHEE Rk

A rectangular tank contains 2340 cum of water. What is the depth of water in
tank if it is 15 metres long and 13 metre wide _

a)i0m b)15m c]8m d)iZm

@@ Cosieusd GHTiguisd 2340m° siemey  Hemrenti o _GianHl. DHGFHTguilsin

whamb 15m, iseon 13 M a@ilsn, SuLpn  steire?
a) 10m b) 15m c)8m d) 12m

Find the volume of a cylinder whose heightiis 3.5 m and diameter of base is 4
meters

a) 33 b) 22 . )44 d) 55

@ 2 (HEnsTUGH 2 _udfiby 35mM, sl LD 4m siaflsd 2 (mansmuilell &6 SiaTisy
& T6ml 5. |

a) 33 b) 22 c) 44 d) 55

A wheel makes 20 revolutions to cover a distance of 66m. Then the diameter of
the wheel'is ---—————-m

a) 1.05 b) 1.04 c) 1.03 d) 1.02

RO WHUHH Fhegn 668 GieTmsvn &LbE 20 S&MmSeT &inlemso
SiFFeaTHaen sl LD 1} SLEID.

a) 1.05 b) 1.04 c)1.03 d) 1.02

The smallest number by which the number 108 must be multiplied to obtain a
perfect cube is

a)2 b) 3 c)4 d)5

1082 sthgs Al aremmsmimet GLImHES (PApHHMID DEHID

a)2 b) 3 (o3 ] d) 5

47. The number of Zeros at the of the cube 0 100 is
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a)l b) 2 c)4 d) 6
100 aremm  sTevrenliall SHamHAe0 D66 LLSDUIMISET6N 616501601 560 &5
a)l b) 2 (of I d)6

18Xx14—6%8
48?—:-4 20 4
a)- b) -
)2 )4

?

c)2 d) 4

A dice is thrown three times and its three different position are given below. Find
the number on the face opposite to face showing 3.

<
T
(if) -~ (iif)
a)l b) 4 c)5 d)6,.
@@ LSl fpeiiml (M 2 (HU(HI Bursl Mg GlsusiiGsum) rﬂens\aa‘im &BID

Oambhodsuu Hersms. (e 3 sramia@n as50) 2 siem WpsHHsT 2 siter

GTGITENENT SIS,
F lﬂ
A
2 3
o o

a)1 b) 4 . d)6

(i) (i) > : (i)

The mean of thefirst 10 natural numbers is

a) 25 _b) 55 c)5.5 d) 2.5
(st 10 @latey sisoiismsaiisii aynaifl

a) 25 b) 55 c)5.5 d) 2.5

Dilip can reap a field in 9 days, which Ram alone canreap in 12 days. In how
many days both together, can reap this field?

a) 5; days b)4§- days c) 6%- days d)% days

o0 Geasf-m smwamL G Sal-&@ 9 BTLssT oG, g6, Jmb

SHalrs Dimeuml GlFliu 12 mrlser sueh. Brenh Gum Bmmal M5
Simisuanl GIFil a&HHemar HTLS6 SEin?

a) S- B et b) 4%;5nLaash ) -;_r[,m'_ﬁﬁ d) Zpm_ama

A and B together can do a piece of work in 8 days, but A alone can do it 12 days.
How many days would B alone take to do the same work?
a) 18 days b) 19 days c) 20 days d) 24 days
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@M Bausmeusnwt A, B @meumid Comhal 8 mrissisy (plur. Al (fib
SisuBaensusnul 12 wHirlsatise (gl B ol (o SisuGeusnsvamil T SHeme
BTL_&6TTe0  (Lpiglimir?

a) 18 mm_sssir b) 19 mi_ssir c) 20 mrSsi d) 24 prlssir

What percent is 3% of 5%

a) 15% b) 30% c) 40% d) 60%
5% @lsv 3% easTugE

a)15% b) 30% c) 40% d) 60%

The value of x where x: 2& 2 21:50is

49 27
=2 d) =
50 ]50

x:2-31-:21:50 st ols EwHde X & wain

:
b]lga c)

b) 1— c)= d) ==
50 50 L

If2 = , find the value ofﬂ
1 a—b

a)a b) = c)8 d)%
2 = 2 gafer e ey

b 3 a—b P

a)a b) = c)8 d)g

The difference betweenthe highest and lowest value of the variable in the given
called

a) Frequency b) Class limit c) Class interval d) Range

Ol (haisiien: allsuymisensh WialGLw waHlhlhe, Waeddnlu wailihen

2 sifen @GHHILTFD

a) BianlpGlaem b) 1ifley sevaman

c) Uifey @enGsusi d) afés

Find the wrong humbers in the following series:

69, 55, 26, 13,5

a)5 b) 13 c) 26

SCWWsTTeT sufisnaUulsh Heumims sleviiensmid Hias. 69, 334
69, 53, 26, 13, 5

a)s b) 13 c) 26

2 3 4
Complete the series: 24 39 ?
20 30 40
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a) 44 b) 49 d) 56
9 .

suflemesni HiFlLs: 24
20 3

a) 44 b) 49 d) 56

The pairs of equations 2x — 4= 0; 4x + y + 4 = 0 find the solution
a)(2,-12) b) (2,6) c)(2,3) d) (1, 3)
2X%-4=0; 4x+y+4=0 Gsn(pHalul[aTen FsuUTL QB SHTe)y IS,
a)(2,-12) b) (2,6) c)(2,3) d) (1,3)

Rohan ranks seventh from the top and twenty-sixth from the bottom in a class.
How many students are there in the class?

a)31 b)32 c)33 d) 34

en alis Crrsd Gualnbha gwras sissain &CwLllnhsh BmusHs
nTagl HiHHad CHTsdl GUBBIEy Dihd UGLULISD D aIIsN  LOKSIETSsTs0
GTomTen &b ema  GlaleNaTIR] 7

a) 31 b)32 c)33 d) 34

A can do a piece of work in 20 days and Biean do it in 30 days. How long will take
to do the work together?

a) 12 days b) 14 days 'c) 16 days d) 20 days

A asrant @m Beausnavenill, 20 wmnEefleonn Bssiust 2185 Gausnevsmil 30

B SaTaud Glaig, WpolUmissT. ssialmaimd Caihal 2isuBauamaumiLg
Oz (PYHS THBHME HILBHE DAEGD?

a) 12 B sei b) 14 mul e C) 16 mIL_ &6l d) 20 mit_ el

Simplify: ._

6
d]g

6
d]E

Find the radius of a sector whose are length and area are 27.5 cm and 618.75 cm”
respectively

a)35cm b) 25cm c)45cm d) 55 cm

allsvedlsit memb 275 Gl uniustey 618.755 .0 Gl sulL s Borewl
UGS SUTD SHTemr,

a) 350Q&.18 b) 256\&.168 c) 4505 .18 d) 35GF.8
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If 15% x = 20% of y then find x:y
a)3:4 b)4:3

x-an 15% =y —ai1 20% eraulisn X;Yy SHIGHI.
a)3:4 b)4:3

a 9 ~ . a—h
—=— Gl60llE0
—b 7 a+b

a)% c);ﬁ-

How many diagonals are there in a polygon of 15 sides?

a) 30 b) 70 c) 120 d) 90

15 ussmssT Garail usy BaErsmibHing aThHHmen (paneuail L G 2 siemen !
a) 30 b) 70 c) 120 d) 90

Greatest Common Divisor of 924 and 105 is

a) 21 b) 23 c)24 d) 25
924 wimio 105 -@eir BLGLm GLTs MG5HES

a)21 b) 23 €)24 d) 25

The L.C.M of three different'humber is 120. Which of the following Cannot be
their H.C.F?

a)8 b) 12 c)24 d) 35

apeim QusuBsupran semisatan B.4.10 120 seifsy SpassmiLsuBms 515
215uGleusniressiiien L GILT.eu DEh607?

a) 8 b) 12 c)24 d) 35

Given below are two series with specific pattern

7 13 29 53 113 217
5 (a) (b) () (d) [e)
What will come in the plate of (e)?

a) 173 b) 171 c) 153 d) 151

#HCp blarhédasiul Garem, GUUUILL 9 Sal@EEmar digul Bim GETLTaeen, (e)
—60 W& ST,

7 13 29 53 113 217

5 (¢) (d) (¢) (d) (e)
a) 173 b) 171 c) 153 d) 151
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The sides of the triangle are in the ratio 3 : 4: 5. The measure of the largest angle
of the triangle is

a) 60° b) 75° c) 120° d) 150°

R (WwHBsTImMESa ubsmume 3:4:5 oy al@SinsHslst 2 M sl HET
lslbufiu CaTambsar Diems] wWimsl?

a) 60° b) 75° c) 120° d) 150°

A certain sum of money amounts to Rs 8,880 in 6 years and Rs 7,920 in 4 years
respectively. Then its principal is

a) Rs. 7500 b) Rs. 6000 c) Rs. 8000 d) Rs. 4530

@M GUUILL Sgsomog 6 iehaeist Rs.8,880 sysayb, 4 sysmi(hserisd
Rs.7,920 sysab OMMIHIMHI 5160160 DIF60 6I6ILIGHI

a) Rs. 7,500 b) Rs. 6,000 c) 8,000 d) 4,530

A person get Rs. 50,000 (Fifty thousand) as loan with interest rate 4%5;p.a froma
bank. if the interest is calculated year wise, then the compound interest, after
two years, is

a) 4000 b) 2000 c) 2080 d) 4080

@mal smiB g 4% 6l 1h.50,000 (miotisTuigit) amsuisimhba sLams
QUEIBBIT. SUFBECHIG WD el ly s s, Sl yebosi
BPHE T S L Bousiiigul Fally eI IgUITsIE)

a) 4,000 b) 2,000 " c) 2,080 d) 4,080

Sanjay bought a bicycle for Rs. 5000. He sold it for Rs. 600 less after two years.
Find the loss percentage.

a)10% 4 b) 14% c) 8% d) 12%

Fehel 1ias wiamngamul 55,0006 aimmidomT. SranE s hsenbs e
.600" @HmmHH eIBDBIT. slasy BL FHalHHmEH HIGHI.

a)10% b) 14% c) 8% d) 12%

15% of 578 + 22.5% of 644 =?

a)231.4 b) 231.6 c)231.8 d) 233.6
57860 15% +644s0 22.5%=?

a)231.4 b) 231.6 c)231.8 d) 233.6

Ifx=2+\/§,then thevalueofx+§ is

a) 22 b) 4 c)v2 d) 2v3

. 1 -
X=2+V3 aailsh X+— &1 WL
X

a) V2 b) 4 c)V2 d) 2V/3
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Calculate the perimeter of a quadrant of a circle of radius 21 cm.
a)e5cm b)75cm c)44cm d) 88 cm
216lF.18 s 5upsiten STeusdl L LGS N HHmsTey ST

a) 65018 b) 7560i&..8 c) 44GF 1f d) 88GiF.1f

Find the value of 55 x 56

a) 3800 b) 3050 c) 3080 d) 8030
HIL STasm: 35X56

a) 3800 b) 3050 c) 3080 d) 8030

The ratio of two numbers is 3 : 4 and their L.C.M is 120. The sum of numbers is
a)70 b) 140 c) 35 d) 105

@lm eemisetie alSsn 34 Bwed susim erenrsmis WHF M W&o 120
statnoy Disusl(n sTemiamalsi anl (HOSTaNE el

a) 70 b) 140 c) 35 d):105.

A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He
then sold it for Rs. 1,400. Find his gain or.Loss pefcentage

a) Loss 6.67% b) Gain 6.67% clLoss 20% d) Loss 6%

QM EHUT @@ Usnipul 10 esusmgenul @h.1.2506E aunrmsSlenti. Simmar FTUbHS
H-250 GlFsve] GFLHTT. Dol AHmen M. 1.4005E IHDIT. SaHenLL suTLIbD
SiveoBl BILEMS @i (FHelssis)

a) 6.67% BULIb b)6.67% sonLiib c) 20% mi' Lib d) 6% m L b

Three dice are thrown simultaneously find the probability of getting Tripletin all
three

1 : 1 1 1
) bl ¢)s d) 5
apsiml LusmLEaT @6y Crrssdsy 2 @l hL(h&Esmsr. apsinison @@y ser
DML_SH HBHDHEHE] TS

1 1 1
7 men can complete a work in 52 days. In how many days will 26 men finish the
same work?
a)14 b) 35 c) 28 d) 26
7 sl &6 @ Csusmevemit 52 BT H6rley GlEulg (DpbseimenT. 265
Gausmevemil 26 2 el sidybhensn B Setiley bigFlg yghumiissi?
a) 14 b) 35 c) 28 d) 26

84. A man's wages were decreased by 50% and the reduced wages were increased by

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@ 8939144344 14 & www.weshineacademy.com




50%. He has

a) no profit and no loss b) a loss of 0.25%

c) a loss of 2.5% d) a loss of 25%

omauilsn el 0% gapsstuhaipsl Usem, Gmpssillt smedulsh 50%
N5 BNBHIUGS DS TN DM HE.

a) Geuru(pd Glsvanen BLUL (P Flsvanso

b) 0.25.% ®i" 11D

) 2.5% mlL (D

d) 25% BLLID

What must be added toi to make it equal to x?

x—1 x4 x24] o |
a) — b) — c) d)
i x+1 x—1 X xl
. . . . ; ) . . X~
— 9 L& 61DHE Fal 106NT60 DK DB X 6160 FHemnl HELD a).:
X X
x¥1 %241 x%-1
b) — ) d)
=1

X X

Base area of right circular cylinder is 80 cm®, If the helight.is 5 em then the volume

is
a) 400 cm’ b) 16 em’ ¢) 200 cm” d) %;i]cmz

@@ Chrail L 2 memsmulsn 2gluss wujiy 8050518 omen 2 winb 36F .18
GIGMEY DUHs0 B D66
440

a) 4000515 b) 1665 .~ c) 200GF .15 d) =61t

Find the simple interest on Rs. 7,500 at 8% per annum for 1% years.

a) Rs. 800 - b) Rs. 900 c) Rs. 8400 d) Rs. 10000
. 7. 5005 8% o' lg sisin W AELL 6 WTHRIEETHEST Hol sl 1gsmiL
BTN

a) m.800 b) .900 c) m5.8,400 d) . 10,000

If one fifth of one third of one fourth of a number is 2 then the number is

a) 50 b) 60 c) 100 d) 120

DT slaTenlic hHH R LRGN ey @0 LRSS GIandcd @ umig 2
o i IR T A [

a) 50 b) 60 ¢) 100 d) 120

—2

_ —1/2
-3x8%xa"+ (i)
16

a)o b)1 c)2 d)8

F(HBED (i)_a-'}sz" 3x4°+(ﬁ)_1”2

simplify G)
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